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slemseastgly Gl
9% Tl I A

Question Booklet Code

Bt wppd Ceyh / IR 3R THT/ Date & Time : 19.08.2018, 10.00 hrs to 11.30 hrs (1 % hrs)

slemasas assisiaamna | TRaT ST GE&AT / No. of Questions: 60  Qungs wHliQussiest / 3TehdaT 31 / Maximum Marks: 180

ofemigiugnyier L gued etaw allssismiusmieal  aasQuiiun
It &1 IrpEATE 3rseff F geanr
Roll No. of Candidate Candidate’s Signature

ol smsat @ liyss [ rsafiat & forw sremeer / Instructions to the Candidates

1. clemgsnemegd alenSOsTGHy  eugsald o gimg.  SwesSg  oledsmiugsmisens @& Cutein el

Sl uNGsGCW VI LI U EB6T.
SreT- O TR Giecent & &9 7 § | T 3Rt s freiRor g yeat & 3R o R s
The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. eaQamm slameli@n (wsSE Swg s augallsd) Qampasiulpeisr usGauny ol ssflled oismaug (A) (B) (C) wmmud
(D) s gomoug @iy w K &lurerg. b Wsan QuiksSsutes almiamw Wl L6 CSIHEASHSHS almLssnamsd
GOy Qadw Coussih L.

T SIS STReT & WY 6T e 8 W6 3R / AT Jiewst wfedt o e R (@), (&), () 3R (&) e 1w &) 377 & Faer
T §T HET & 3N T 3Ter Ieak 1 =9I A S|

Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (A), (B),
(C) and (D). Only one among them is correct and most appropriate answer shall be selected.

3. gailanmp afura cloLegh 3 wSHlOumiss apEsiuBL. CH FULSSH aAT® Saprm aloLsgn 1 WSt
GOMESBLL LA,
T3l TEGASS TR 3 TEY Seek o T AT 37 — et ¢ 3R T 17t 3eek & fAw v A9rdla 3 wmag g

All objective type questions carry equal marks of THREE for a correct answer and One negative mark will be deducted
for each wrong answer. .

4. g®m G&sﬁsﬁ]eé@ uw ol OpMy Qeusred oiF Supter elmiunsta sEHSUbLD.

TS T3 F AT 3 3o} & I 3HH! el Iea} AT AT
Multiple answers for a question will be regarded as a wrong answer.

5. dmamané GhSs 'L aam akoLgsii (OMR sheet) gsim 2 ris@es SEUIES SILUbL.
IeaR &t & fore el 3rafeiat Y veh 3reT TANR ek I T forar a2 81

A separate OMR answer sheet is provided to all candidates for answering.

| OsrLiddou smLd uSESHN syl / 3T g6 3 ST / Continued in last page
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CATERING ATTENDANT ‘A’

10.

11.

el Sstefl  GHLTL poer  GLEma SomnEl  Lgésaun. Briss fesafune g AmdEHESD  sloLau Wb
oBH0sm Qe SsIUL b LS Boi/EHmn Bin L b sipeeLiGusselsnsd - (Ball Point Pen) @h&g1s
&L L Gouesih L.

FTANR T W R T FR FEAEF Tl IR T O R AT Fed SHE Seok # RfEd 7
T et afer TrEe Ut (ATl T T A

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black) for writing on OMR sheet and
marking the most appropriate answer.

Mans0snE A, B, C, D, E e opg auflmessisy SEAIUC ot (QBS USBSDE IS Cuosd  Qpsmsollsd s

SLLS®SL unr‘r_éa:mfh_). B a_ilsuﬁrmﬂuggnur'r demg st QBTG GOl Sei@iemLw ML ssreld  SiSHEss
Qi SELILL i sULSH @Oy Geuu Cousmipld.  SouPlsamed 2 KIS S ML g sren  QFa0eTSH1SEILIGL.
magﬁaﬁaﬁﬁra@?ﬁaﬂimaﬁaﬂﬁwgmﬁmgﬁmgmémﬁl = JfAaT §9 @ 3NTHAIR ofie & dfea X o
3 3 w7 § e # QT o T IR Sec U T Hodiohed aAg! (o S|

Question booklets have been marked with A or B or C or D or E on the right side top corner, which is mandatory to be
written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

QBs  Csiaisn Cussms 6l Aempuiisiisminsees weAuSSIL  QETH S50urdaid, 2 ESHMS! CHISms QUETDaEDY
sfune  Lwsiuy HS06H (S EWLTETSTSLD. 0 HIEEHSE Sl smems CEISmS  olsmneEis cT6METEN
e sEEE (RS slmLusibsl o Oeiert @lpeore o0 s silemL_wsile &eomia.

ETeri T Ty @ 3R ARG W SR & T Rt $ir 3R FaIT T Feea et ¥ i FuTEsE ST €9 § 30 FAA H

ELRIDESY wmmma@sﬁw%mmmaﬁl T 37T AT TX ST Fehet & 30 aTE A hfeeT Harer W

AT 3T FHRA B

Although the test stresses on accuracy more than speed, it is important for you to use your time as effectively as possible.
Do not waste time on questions, which are too difficult for you. You can go on to other questions and come back to the

difficult ones later.

GPLLjeemen sTSLLTTILSH @S slemEOsTGITD Sl @i QUEIGLILL (b ST6N Sl Qanass SabSIs UL LT L TS
uﬁmmﬁﬁgﬁaﬂﬁmmwmmmmm%lmﬁumamaﬁamu

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

TS HS0S0 (Pebd Sei efemL g el GLsLEGSNTed 26 glemenuil L UGS s SPSS  AE60 slsmL_& SHaflsmest
Cain] i aahEnEiurefLl QsthSs ey Tyslilmer sememiILBIiEsT SEIEE AFD OUSHIES Q&meiensoLd.
WWWWW,WWW@W?W%@WW@MWWW#ﬁ
o Ry ey 3 e |

On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark at the top and hand over the original
OMR Answer Sheet to the invigilator and retain the duplicate copy.

eainy upsia (1) a@ss CaiaEEns  HEmPaEEL (D (Ul gLigw Beneudled) wpgd () SiEed oL Ssi
oyl GstienLud Cxiiay oM EaismEiuTaiLl QUL &&EalsmbLD. s SBmeulgd @elelyemienLun  Caiay
spueiasst SEISELE b S556 QFVSHLIF]

qfieqr FATST gt I (1) ﬁmmﬁawmwmmw%sﬁw(a HHIR ST OF e 1 Wi & 3t B
off TRIRYTY 3 et gerert W 7 O A |

At the end of the test (1) Written Test Call Letter(s) with photograph pasted on itand (2) OMR Answer Sheet should
be handed over to the invigilator and shall not be carried by the candidate under any circumstances.

dekdedk
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safls LHEID UGSse Smer / TR T T St /
Mathematical & Reasoning Ability

672 e eTewienemt 5:3 613 el@HHHe0 LflGsTed HemLdb@ Guflul erenr 61gi?

(A) 252 (B) 672
(C) 420 (D) 525
7 672 Fr 5:3 wqura § Fwilora &7 &, a1 =1 Rear grm
(A) 252 (B) 672
(C) 420 (D) 525
If 672 is divided in the ratio 5:3, then the bigger part will be
(A) 252 (B) 672
(C) 420 (D) 525

800 (BUMUIGEG 6HHMmeT FHASEGD FTHIa 6ully SEISSILLTO (WaH UaiBseflsd CLoTSsHI0TS
h. 920 &lewL&@b?

(A) 6% (B) 5%

C) 4% (D) Beupnilsd ergialfe0men
FTLTLOT 4TS 9X 800 T 1 ATT 920 T g SITAT gl SATS <X F4AT 82

(A) 6% (B) 5%

(C) 4% (D) TH ¥ A AR

A sum of Rupees 800 amounts to Rupees 920 in three years at simple interest. What is the
interest rate?

(A) 6% (B) 5%
(C) 4% (D) None of these

QM BMEFHTHHE QrHs UFlLeTe] 216 QF.18° aapTed @I CEmsienere eeiaieme,?

(A) 216cm? (B) 162 cm?

(C) 126cm® (D) Beaupsd asiasme
o T IS &R 216 cm? g1 FHHT AT __ g

(A) 216cm® (B) 162cm®

(C) 126 cm® (D) =T & HE TE

The surface area of a cube is 216 cm? It's volume is

(A) 216 cm® (B) 162cm®

(C) 126cm® (D) None of these

@ndu eNarQain syymilEs 2 Hhaie e / FE Age HiFcawy / ISRO Propulsion Complex - 2018 3
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o

@@ eouwer walde 20 &l GausdHdled guemed 400 BLLT  HTHMS SLES  leuel
abSaIE Osmerend GHID slelialeme?

(A) 20 BOLFiser B) 72 Gpmgser

(C) 420 Gpmgssi D) Bamnled egia|flsdanen

400 e #Fit g it a7 A | 20 Y. / et it =1 F e I A gy ;T a9y o Srar g7
(A) 20fase (B) 72¥&E

(C) 420 %e (D) TAH RS TE

What is the time taken by a boy running at a speed of 20 km/hour to cover a distance of 400 m?
(A) 20 minutes (B) 72 seconds

(C) 420 seconds (D) None of these

9587 — X =7429 — 4358 eaaipred, ShasamiLaupuier X elbs e1ewi?

(A) 5616 (B) 6516
(C) 6561 (D) 5661
9587 — X = 7429 — 4358. T, X =

(A) 5616 (B) 6516
(C) 6561 (D) 5661
9587 — X = 7429 — 4358. Then, X =
(A) 5616 (B) 6516
(C) 6561 (D) 5661

Gw A wppww Buled weopGu 36 Bpd 44  wraweuTseT o sTemet. G A-afed 2 _arer
wrewiauisefler gymem eeml. 40 HGeur, @G B-uled o eten wrewmeutsefen sgrefl eewL 35 @Geor
GIEmTeL, B Gpssellaud o et OLoTss reweuTsefler sgrafl erenL  erevten?

(A)  37.25 &Geur (B) 37.50 &Geor

(C) 37.75 &Beur (D) @Gambled g bsmen

T S oft ¥ 3 gt # wen 36 siR 44 A g1 AT aHg TH ST H AAd awiq 40 A €, ok 'y
<t =7 35 fheiium &, 97 A1 ayg! o AT} ofaq as #4782

(A) 37.25f&aT. (B) 37.50 f&.m.
(C) 37.75 % (D) =H ¥ IS ARL
Two groups of boys A and B have 36 and 44 students respectively. If average weight of students

in group A is 40 kg and that of group B is 35 kg, what is the average weight for both groups
taken together?

(A) 37.25kg (B) 37.50kg
(C) 37.75kg (D) None of these

@hHw efwmQeaiel gumisd 2 HIo eetmal / FAU Alge HiFveraw / ISRO Propulsion Complex - 2018 4
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600 epumisEE eummelw @k ool ofdow 20 Fseldlsb emub Gsids elumear CFUISTE
Sis@imLw efBumear alened elslalene,|?

(A)  @ur 700 (B) wumi 620

(C)  epumur 1,200 (D)  emumu 720

A =Tt F TF AT 600 T H AT ST ¢, M 20% AT F G =T Straw {, 9 A= w7 geq
Y 2

(A) 700 =9 (B) 620%F0d

(C) 1,200 79 (D) 7209y

If a bag of rice is bought for Rs. 600 and sold for 20% profit, then selling price is Rs.

(A) Rs.700 (B) Rs.620

(C) Rs.1,200 (D) Rs.720

9 &6er aflmev . 9.30 wWHHID . 10.80 Qe QIeRIG sSTUSKGMmET, SPSMILAIBHRD 6Ths
aldlH5sl60 HoHSHTH @ SBeor NI eh. 10 uELD.

A) 87 B) 1:1

(© 78 (D) @amnled eagia|feemsn

9.30 T9¥ wid f. T, F ¥eeft & 10.80 To¥ wiy fh.am. W%ww%&mﬁﬁ%ww@q
qrfe foreror 10 703 wia &, 9. gy sre?

A 87 B) 11

() 78 (D) T F B G

In what ratio must a vegetable at Rs. 9.30 per kg be mixed with vegetable at Rs. 10.80 per kg so
that the mixture is worth Rs 10 per kg?

A 87 B) 11
(C© 78 (D) None of these

5678-a51 SiHBD 2 6iterr 100-63T IOLMIEG 61517

(A) 5600 (B) 5700
(C) 6000 (D) 5680

5678 &I Aeean at & w«T §&aT qh o ST & ' g
(A) 5600 (B) 5700

(C) 6000 (D) 5680
Rounding off 5678 to nearest hundred will give

(A) 5600 (B) 5700

(C) 6000 ’ (D) 5680

@bHw aflarQeieaf SumiEs 2 hgIo eueTmsid / FHI AlGH HiFcasw / ISRO Propulsion Complex - 2018 5
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,}T FnLOWeLs 2 gallwimeny ‘of

ISra

SET

10.

11.

12.

14125 e@iLens FHaldHHH0 GBIUIGES.

(A) 65% B) 14.25%

(C) 56% (D) Samed agafcmeo
14/25 T3 7 gfaad & &7 § =<6 A

(A) 65% (B) 14.25%

(C) 56% (D) 398 q &S LN
Express the fraction 14 / 25 as percentage

(A) 65% B) 14.25%

(C) 56% (D) None of these

8+[6-{5+B—-(2+1)}] 8z wHimu SHGLIYESD.
A1 B) 7
©c 9 (D) Bampled agie|lsdenso

8 +[6—{5+ (3 —(2+ 1))} % | & IGT 7MY

A 11 B) 7

€ 9 (D) TAH A FE AR
Find the value of 8 + [6 —{5 + (3 — (2 + 1))}]

GV B) 7

c 9 (D) None of these

6, 8, 10-s51 LCM aewiBLigshseaLb.

(A) 240 (B) 120
(C) 60 (D) 480
B, 8 X 10 =T TeT. €Y. TH. (T THTIEH) gl
(A) 240 (B) 120
(C) 60 (D) 480
LCM of 6, 8 and 10 is :

(A) 240 (B) 120
(C) 60 (D) 480

@BHu eNamQaiel oymiF 2 HaiIo auemTaid / FAY A HiFcaFd / ISRO Propulsion Complex - 2018
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SET
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13. SpsatiL SiLLeumentulled @ Csieyd@ cpaip wibevkisafled Swmba uHe Geuibaiser, Gsiralsd
Uk Cumpeaiser, Csialled BsHTédl CQuBBaTsaiaT eluymissT OarThsHsluUl BeTang. Qde0 CHiTeaysdES
ugle CFWSafsefed eabhg LIPS BEhal DHe Foaldlssdled Bsialsd LR CUBBEITESET 6Ter
BUTIBLISSALD.

wTpleod | uHey QFUISaTsHeT | Uk CumBelTssT | BxHTsd GUBBaITSET
X 5,000 3,500 2,500
Y 10,000 6,500 5,000
z 2,000 1,500 1,200
A X B) Z
C Y (D) BoamaSHEID
I ST TS AT o Tsfiohd SPiaa, wien § Sufedra ofR wlien & Sitel gu ot wean = & 715 arforenr 9
[HCIRRIRI]
T YStieha SR SN g
X 5,000 3,500 2,500
Y 10,000 6,500 5,000
Y4 2,000 1,500 1,200
e T & 9ert # srferspaw wfaerd dshiga IFfiear Sufead gu?
A X B) Z
©C Y (D) T+t
The number of candidates registered, appeared in examination and qualified in the examination
for three different states are shown in table below.
State Registered Appeared Qualified
X 5,000 3,500 2,500
¥ 10,000 6,500 5,000
y4 2,000 1,500 1,200
Which state had maximum percentage of registered candidates appearing for the examination?
A X B) Z
© Y (D) Allof these
14. Camgl L @ g mriys 1, 1,2, 4,3,9, 4,
(A) 3 (B) 6
(©) 16 (D) Beaumbplsd egia|Lleamsn
1,1,2,4,3,9, 4, T @reft T Y W o forg faeeeT 94 |
(A S (B) 6
(C) 16 (D) TH ¥ WIS AR
Choose the option to fill in the blank : 1, 1, 2, 4, 3, 9, 4,
(A) 5 (B) 6
(C) 16 (D) None of these

@S eNlamQeuef syymiss 2 HgIw eensd / FHRT A1ga HiFcaaH / ISRO Propulsion Complex - 2018
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wfo FOLOWIEVS 2 Gallimerny ‘of SET
%14'

15.

16.

Qurgl ofley WHEID BLOLY efeusmyrissT / AT T R guamH AT [AwT /
General Knowledge & Current Affairs
“CalILAT : GU” aOLUSBEG QUThSSLTET LFmevs CHIHOSBHSLD.
(A)  wreweuy : o dfluiy
(B)  wmervarl : GW
(C) soway : 6w
(D)  ydleurery : LEHFTWSHSI

‘T : FHIGA T ST A GTAT &, S9 I
(A) BT AEATTH

(B) ¥ :E&H

(C)  srewer : wiAfd

(D)  widerar : srfsfRortas

Choose the one that matches “Captain : Crew”.

(A)  Student: Faculty

(B) Mascot: Team

(C)  Chairman : Committee
(D) Defendant : Jury

saflal Hososmen Hide LD Game OFui  LWETLEHSHID SifleBisSeosaflar  CETELmL
TR DILEEILBBBES!.

(A)  erSu.u. (CPU) (B) mMysd (Program)

(C) Meoeawusd (Memory) (D)  w.ererd. (UPS)

fREdt 7 U 9qg, 7 $HT THEATS BT GHTHTT FT AT FA FA4 & [@Q STAN HAT §, &
_ wgrVmargl

(A)  "Edy (B) WRITH

€ = D) z.f.uw.

A set of instructions that a computer uses to solve problems and to do work is called a

(A) CPU (B) Program
(C)  Memory (D) UPS

@b eNanQeaead sLyTiE 2 Hio euarTawd / FAN Alee HiFcead / ISRO Propulsion Complex - 2018 8
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SET

17.

18.

Grmued ufla QuUBB (PeHed CuewToem wimy?
(A)  Guwfl &y
) anfleorfl Slefewi_esr

(B
(C) sGyreflal BTG
(D)  e69e@us amymeni

TTeel QIERTR St aTet agel Higal ot
A A

(B) R e

(C) wUfSHr AIg

(D) AT Tl

The first woman to win the Nobel prize was

(A)  Marie Curie

(B)  Hillary Clinton
(C)  Sarojini Naidu
(D)  Queen Elizabeth

(A @z

(B)  weimreug
(C) SyesiLmiLib
(D)  mresismMALLD

2018 F JTHST G| & qaeh qTIorenT 8, I I T e

(A w=eTT

(B) dExT

© &

(D) =T

In Commonwealth Games 2018 medals ranking, India got position.
(A)  first

(B) third

(C) second

(D) fourth

2018 &moaEaieds Gum igsaflsd BHAHWT LSS0 UL IQuIeisd adhsHemeanumag @b CuBBs?

@b eNauQeaiaf symilEd 2 BEIo aueTnah / THRY Alge HiFcaadd / ISRO Propulsion Complex - 2018
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SET

19.

20.

21. -

QUGITILDEWTL 6VGH S0 2 66l SMHHI CILIHLOUTEVID

(A)  amlyege
(C)  oopLiyegen

ATLHSATT 1Y SATETAL
(A)  EEEEE
(C)  ATEgISIT

Atmospheric air is mostly made up of

(A) Hydrogen
(C) Nitrogen

WeflFHET (IpHed (WmBWTE Blevalsd @pmdl sTgmear Ufibs aubLLD

(A) 1957
(C) 1975

AT g Igel §X A1S 9% qarqor e a9 # gail

(A) 1957
(C) 1975

First moon-landing by man was achieved in the year

(A) 1957
(C) 1975

GrOleLIGT ABTHEIM @([H

(B)
(D)

(B)
(D)

2 L&l 2 (heuTdbsUulL gl

S &dee
SITTLIET-60L -, Hen & (B

AT
HTa T STSAFATES

(A) uyspPeuBs efemenwm G eyt
(C) UMlead Quendlas aliehepe

TR gITheT oAT|
(A g et
(c) fafew &gifaw wifas Rt

Stephen Hawking was

(A) Renowned sportsman
(C)  British Theoretical Physicist

(B)
(D)

(B)

D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Oxygen
Carbon Dioxide

1948
1969

1948
1969

1948
1969

LBROUBD apTelell BigsT
RQeumbfled aTgIa|LOeLEN6V

T gieiige srfear
TR ¥ IS TRl

Famous Hollywood actor
None of these

@i efamQeaiel symiuFs 2 HHID euerTaid / = Al SIFCFq / ISRO Propulsion Complex - 2018
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7‘ FMLOWIEVS 2 Gallimeny ‘o SET

sudt|izFa g9 9RET ‘@ A

CATERING ATTENDANT ‘A’

@b wsHw Crendulest UTSSHSH0 SIDLHEHIETETS.

(A OzBe (B) &s

C) aLsg (D) Guwie

HRA Hed X@T % ¥ Raa gl

(A)  afE (B) ™

(C) S (D) ufZEm

India is located to the of equator.

(A)  South (B) East

(C) North (D) West

aumQemell QLI genw SHemTBLISHSHEUT WTT?

(A Blul e (B) ..umgGL
(C)  wrBame (D)  eneserdresst
=T #T sfasR & gRT T 13T =)

A (B) e

(C)  wTaI (D) srEeERTEA
Radio was invented by

(A)  Newton (B) Faraday
(C)  Marconi (D) Einstein

SpaemiLauBpET b SHLD GUHmSHeT BB Serd GCuasiseT wWwHAUND oal'L FHEH GmBe]
oBpID OrHs Carmsmul GMBeHs (WUBFHSSBSI.

(A)  Gurager oilwimes (B) oied paler gLib

(C) Symw erdeuymel oy lwiest (D) &giteu Aéam oulwimes

FTAwT " " T IeeT agi T R wefat F N s, seaqiar sz o T @
HH FHIAT Bl

(A) T T (B) 3ree a9 e

(C)  UTH TS ATHATH (D) |9 e s

The program * " aims to reduce stunting, under-nutrition & anemia among children
and adolescent girls.

(A) POSHAN Abhiyaan (B) Atal innovation Mission

(C)  Gram Swaraj Abhiyaan (D) Sarva Shiksha Abhiyaan

@hAu eflamQeteaf syymilES 2 HgIw eueTrsid / FAIU Alge HiFcaFq / ISRO Propulsion Complex - 2018 11
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CATERING ATTENDANT ‘A’

25,

26.

27.

sab APl GurmeTsamer UTTILSHBEG 2 Sa|b smeluller Guwir

(A)  OLeverdBasii (B) oL erdBasimi
(C)  oeilwomsr i (D)  ewwsgmerd@aL
TEA ST TEGA DT @ % [T TETATA (oA ST AT I hY gl SITaT &l
(A) AT (B) wAEHIT

(C) TuAMIHET (D) wTSHIET
The instrument used to view very tiny objects is called

(A)  Telescope (B) Stethoscope
(C) Anemometer (D) Microscope

2 sualell Qufiw &ewTLb Q&L

(A) e dwr (B) aunifssm
(©) auLgGissT (D) Gy
RECERIE R &l

(A) TR (B) ershiar

(C) S sTRfET (D) I

Largest continent is .

(A) Asia (B) Africa

(C)  North America (D) Europe

Slasailear Upphs Hard BpHurelsd sfflwir Herors Qemewi T UUGSBEI.

(A) audlegL efeuT (B) Gurgleured GBm

(C) LwaLT eerd. Bgmamalmagemntedt (D)  sevgmiumyl &b
T & T Seqfe fareres faer % &7 & 79T ST gl

(A) =iy (B) T Ag®E

(C)  =f TH TUTHIA (D)  =EqRET T

The birthday of ‘ is celebrated as Teachers day in India.
(A) Sage Vasishta (B) Motilal Nehru

(C) Dr. S. Radhakrishanan (D) Kasturba Gandhi

@nau el@nQeaien SyUMiEa 2 HhgIo sl / FHI e HiFvawd / ISRO Propulsion Complex - 2018

12




ot

7‘ FOLOWELS 2 Galwmerny ‘of

- g9 9RER ‘@
CATERING ATTENDANT ‘A’

SET

28.

29.

SDSWILUBLIOT 6hH BMH FUSHD DeUFTETD Blensvenwl DiPlaldHaEl.

A) Beokiens (B)  uewr_ebsewn
(C)  wrewsdey (D)  urLme
T EI g | SITITARTe <l STSorT il
(A)  =fieieRr (B) dewEE
(C) W& (D) &=
recently declared a state of emergency.
(A)  SrilLanka (B) Bundelkhand
(C) Maldives (D) Bhutan

BhHw SiFFlweosnioli] FLlL LD Bxauled SIWYNIGES UHHS.

" (A)  26.01.1950 (B) 26.11.1949
(C) 15.08.1947 (D) Bamnled eiglalfeveneo
HIRA & dfagrT Y AT gl
(A) 26.01.1950 (B) 26.11.1949
(C) 15.08.1947 (D) TFH § IS Aol
Constitution of India came into force on .

(A)  26.01.1950 (B) 26.11.1949
(C) 15.08.1947 (D) None of these

30.

Abglw Csdw Gamguiled SpsaviLauBpisT 6bs HIBD Eedensv?

(A)  Peud B) usmeg
(C)  Geusiremer (D) dsiy
WTCT o TEIT S | I A7 FT T8 q7AT 7 Tohad T 72

(A) e (B) =«
(C) &%= (D) @
Which colour is not to be found in India’s national flag?

(A) Blue (B) Green
(C)  White (D) Red
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CATERING ATTENDANT ‘A’

SET

31.

32.

33.

GAwweii_eoggled e Cuflw Slysd egi?

(A ul (B)  eguiLir

(C) Gasieuru (D) uEpLGLT

ARAST A gaaasTIg &l

(A) g (B) gEEI

(C) ™ (D) =T

Largest planet in solar system is ;

(A) Earth (B) Jupiter

(C) Mars (D) Pluto

2 V& SBDIG Hleord 2018 wraelig efyrer Guried SHeuad CFIHHFMSI.
(A)  smBo (B) Wemmerogss

(C) mr (D)  oamisss)

o qarfa<or faaw 2018, T % (AT AETS IR &A1 hiwd B
(A) 1% (B) wiTiRes®

(C) =« (D) TxETq

2018 World Environment Day will focus on the battle against pollution.
(A) air (B) plastic

(C) water (D) nuclear

o Led el GHuI® (Body Mass Index) 2 L&l GBI 2 e wgl
(A) GalLed Geput® (B) ueud

(C) o5 aL (D) cpemer g3

IS AT 9 (L. TH.AR.) q ST ST T &l

(A)  =EuEIa (B) wfw

(C)  Hrerdr (D) WA afF

Body Mass Index (BMI) can be associated with i

(A)  Hearing loss (B) Strength

(C) Obesity (D) Mind power
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34.

35.

allewiQeuell &b — alépd  gmyTUIll  SEITSEHLET  OBTLALMLWS  6TeIBTed, DiemiFsHd)
SHLLID BpsemiLeuTasefed WTHLeT GHTLTLmLWwg?

(A)  Gammd umum

(B) C.V. gmwesr

(C) J.RD.vumr

(D)  AP.J. aiigevassord

eiafRer T < ATRTATE " 3 Ao e & R H g 56 aieRs ¥ o Rsew gt
S FEHA |

(A) BT T

(B) & 7w

(C) SRS aEr

(D) TS arege FHeTH

Choose the option the matches closely with “Space program : Vikram Sarabhai” in the
expression : Atomic energy program :
(A)  Homi Bhabha

(B) C.V.Raman

(C) J.R.D.Tata
(D) A.P.J. Abdul Kalam

Ssavi_appled abs FhHl 2 emeled GmBBHTeL eI Fbubsome LIjFFamen eugeomd?

(A)  oysdflmen (B) amedduib
(C)  &miruen (D) e igewtid
AR H T e gET WY HT HIROT g dhdl gl

(A) St (B) hfesrH
(C) e (D) wfe™

A diet deficient in can be a cause of bone defects.
(A) oxygen (B) calcium
(C) carbon , (D) platinum

Qg efanQaen sLymisd 2 Hhgin s / FAIY Alge HiFcaad / ISRO Propulsion Complex - 2018 15
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36. @hFHwraled (pse geysment CamHamer HoMb SDERILeuBled 6hs LOMMBleVSED DiewLobEIeTeng?

(A gy LrBoed (B) ouar

(C)  Qazgmismem (D) 056
HRA it geF s oieor o =g | o g

(A) st (B) SfRem

(C) e (D) qfAeATg
India’s main missile testing range is located in the state of

(A)  Andhra Pradesh (B) Odisha
(C) Telengana (D) Tamilnadu

37. SpHWILeuBDIeT Wwale o Lellar (phHall LTy F&53) 61g1?

(A)  smGurenant Gyl (B) srsGurmlsei
(C)  uGymTLige (D) it g5a1
AT TR H ST 7 & &I gl
(A) FETgESe (B) wfasr
(C) W (D) wrEsR
Human body’s main source of energy is
(A)  carbohydrates (B) minerals
(C) protein (D) fibre

38. BT QIglILmL SIVG UL DG SLGLD.
(A @ (B) afl
(C) gy (data) (D)  asgielse

& HTT &I Hiforsw 1S a5 ]

(A) @t (B)  weTer
(C) = =T (D) fafeeor
Fundamental unit of measurement of is byte.
(A) sound (B) light
(C) data (D) radiation

@B eanQeusll SLMiUFR 2 B aueTTsb / FAY AG HiFcaad / ISRO Propulsion Complex - 2018
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SET
A

39. 2018-10 &YewTQedT SIS BTBHE6MGT FHeneveuToefler FhaILIL 60 HLOUBBSI.
(A)  ysl OLedsd (B) @mdeonia
(C)  oLerddBredwim (D) Qurgmbis
TFHET TLHI & TET T d5 2018 & ¥ srafera T o
(A) el (B) IATEeS farew
(C)  arteform (D) TreTRES
Commonwealth Heads Of Government Meeting 2018 was held in
(A)  New Delhi (B) United Kingdom
(C)  Australia (D) Mozambique
40. g BTSN LUTTmels ST GmBUTLIOBG GODUTH SMIERILOTS 266G,

(A)  eweulL1felr - 19
(B) e Lifer - &
(C) eweulLife - ¢
(D) @©amped aga|flsdamen

T 39 A, Rw s & & AT STETIT T Tk STH HIT g

A RafEad

B) Rafmadr

(©) et T

(D) =H ¥ FIE AT

deficiency is a common cause of blindness especially in poor countries.

(A)  Vitamin D

(B) Vitamin C

(C) Vitamin A

(D)  None of these
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SET

41.

42.

43.

2020-1>0 SuemiB eelbLls allenemum (Ba&eT Bl GUBID S 1D LS LD.
(A)  GLrs&GwWT (B) usl OLeved

(C)  evewiLen (D) Gampiby

2020 ¥ TTAT A (UF e 7 s o s

(A) Ty (B) % faeeft

(C) = (D) =T

Next Olympic games will be held in _ in 2020.

(A)  Tokyo (B) New Delhi

(C) London (D) Colombo

SPEEWILUBBIET  6IhF SiFsTESaD, gssy o LBWTALUSETed UBDICHETUI Uy  SITEILTE

Besdnal?
(A)  ymasulenen (B) @premi
(C) B (D)  upmiser
T I AR AR ITHRT AR I Fa< ¥ JST gIaT 2l
(A)  TaTR (B) ¥
(C) #=mt (D) W
High and frequent consumption of ___ is generally be linked to cancer.
(A)  tobacco (B) eggs
(C) fish (D) fruits
lleLb(gLDITGTI') @m 0 SyGlb.
(A) o1FGus gamaemnt (B) mpalen QFwpamaGsel
(C)  yuevoren sLayeit (D) sem 2 e
EERS I N {
(A) = s (B) emgfi® STy
(C) ST WRTaTT (D) =i R
BrahMos is a
(A)  cruise missile (B) modern satellite
(C)  popular god (D) nuclear reactor
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SET

44,

45.

46.

1sra
CATERING ATTENDANT ‘A’
griped-2018-60 876G Bmid CFemeu euflEefe auBEUTUI (HLITUI Gamg oG LD.
(A)  @n el gD (B) ussmuiyid
(C) em Wededuwiem (D) age|fedenev
TS 2018 3 forg wTer Sfix FAT X ST TRt ATHT( FUS &I 97 |
(A)  THeE (B) TH I
(C) =wm«E (D) TAH ¥ &IE TGl
Goods and Services Tax revenue collection for Aprii 2018 was approximately Rupees
crores.
(A)  One lakh (B) Ten thousand
(C)  One million (D) None of these

Fanowevenpulled LWETLESSILGLD eiflouryy SsawieuBpieT 6hHe Hemeoulsd SIS Hevalled o eitengi?

(A)  amy (B) glyaud

(C) o ombs gyeud (D)  gre

s # A e gt e # F 7§ TS graT |l
A = (B) @&

(C) = (D) uSsT
Domestic LPG cylinder in the kitchen contains LPG in the form of
(A) gas (B) liquid

(C) gel (D) powder

B = H,O eeimsmed = NaCl

(A)  Gurg e 1y (B) QucGymed
(C) ardswb (D) wumed

ST = H,0: = NaCl

(A) | TER TH R (B) 2T

(C) = D) T

Water = H,0; = NaCl

(A) Common Salt (B) Petrol

(C) Paper (D) Milk
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SET

47.

48.

49.

OmISlOMH& BTG Liewidhalar GQuuwiT

(A)  Lmevoir (B)
(C©)  Mymmis (D)
A e R geTr Rl

(A) ST (B)
C) %% (D)
Currency of United Kingdom is

(A) Dollar (B)
(C) Franc (D)
GamL_iisbeonsms GBILIGS

(A)  ererd.0.en. (B)
C) g.aang.d. (D)
fBww #9441

(A TEHtaE (B)
(C)  sm.uAsh.H. (D)
Choose the odd one out

(A) SBI (B)
(C) ONGC (D)
W b QFwBmasBarefsar GuUIT

(A) o (B)
(C) Begm’ (D)
AT o TIH ITAG &l GIERECIRIE I
A  oftw (B)
(C) sEuATa.ud. (D)
India’s first satellite was named "

(A) Bhima (B)
(C) INSAT (D)

Qe

L6 6uoTL

Yen
Pound

61&.19.6101.8.

e.8.00.6.:m.

TS Uh.H.
TS, T3S, ¥ a1rs,

HDFC

ICICI

Leterdereda

ST L

. ue. w4
AN

PSLV
Aryabhata
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50.

<H

52.

53.

yugle GuomPuilsd Gajsd) / SiUsT 7wt H wetvrar / Proficiency in English Language

The evaluation of answer sheets by the teacher in a fortnight.
(A)  will finish

(B)  will be finished

(C) Ainish

(D)  any of these

Vivek lives Hyderabad. He lives 48, Tilak street.
(A) in,at (B) by, on

(©)

(A)

(

C)

(A)

(

54.

C)

(A)

(

55.

C)

(A)
(©)

at, in (D) at, since

| read the newspaper it interest me.

either (B) because
before (D) neither

Babur was a great soldier, he was a wise ruler.

also, not (B) but, too
never, because (D) not only, also

being fined, he was sentenced to a term of imprisonment.

Besides (B) Because
Beside (D) Both

, Many people died because of heavy rain.

Bravo! (B) Hush!
Alas! (D) Hello!
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56.

97,

58.

59.

60.

the word in the dictionary.

(A)  Look into

(B) Look up

(C)  Look after

(B)  None of these

It is raining. | need umbrella.
A) a (B) much
(C) many (D) an

Geetha can swim well,
(A) can'tshe?

(B) can't Geetha?
(C) did she?

(D)  any of these

Rahim is than his sister.

(A)  older (B) oldest

(C) ol (D) any of these
In this situation, | have no to offer you.

(A) advice (B) advise

(C) addvise (D) advisse
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 19.08.2018 for Selection to the Post of
Catering Attendant ‘A’ — Post Code:024
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY

Question Booklet Code A
01 C 31 B
02 B 32 B
03 A 33 C
04 B 34 A
05 B 35 B
06 A 36 B
07 D 37 A
08 A 38 C
09 B 39 B
10 C 40 C
11 C 41 A
12 B 42 A
13 B 43 A
14 & 44 A
15 C 45 B
16 B 46 A
17 A 47 D
18 B 48 C
19 C 49 D
20 D 50 B
21 C 51 A
22 C 52 B
23 C 53 D
24 A 54 A
25 D 55 C
26 A 56 B
27 C 57 D
28 o 58 A
29 A 59 A
30 D 60 A

*** Question not considered for evaluation



